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Strategy for Generic Algorithms to Solve TSP Problem Quickly

JIA Li-yuan, ZHOU Cui-hong
(1. Dept. of Computer, Hunan City University, Yiyang 413000; 2. School of Communist Party, Yiyang City, Yiyang 413000)

Abstract The convergence speed of Genetic Algorithm(GA) and the quality of problem result are the main inconsistency which affects the
performance of GA. This paper proposes the control strategies of improved GA, which are the good subspace operator, the variable crossover
probability and variable mutation probability operator and the variable dimension subspace operator. Experimental results show that the convergence
speed of this algorithm is so fast to improve GA.
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BEGIN
Initialize Population P={ X, X,,---,Xw }, where x, D;
generation = 0;
Xbest = arg min f(X,)
Xworst = arg min f(X,)
WHILE (X )>(X 0 )dO
{
Sort the M individuals by their fitness
Select K individuals with the best fitness, and select M-K
individuals
randomly from P, to form the M parents for next generation:
Xy Xg e, Xy

Adjust their Pc and Py, according to individuals’ fitness, Then

crossover and mutate individuals to generate a new population for this
generation:

arg
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X3 X0 Xy
X = arg max f(Xi)
1=i=M

Select s individuals randomly from X;,X,,-=*,Xy , X =
min f(X.)
I=i=s !
IF better(X,X) THEN X'=X;
generation = generation + 1;
Xpest =arg min (X;) :
JE=E=\)
Xuorst = arg max f(X;) 3
1=i=N !
Output the result Xpes;

END
Output the result Xpes;
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